Calculate Linux - Bug # 817: firefox

Status: New Priority: Normal

Author: ilya ivanov Category:

Created: 10/17/2015 Assignee:

Updated: 10/19/2015 Due date:

Subject: firefox

Description: DENN D°PY:D¥4D2D P»  firefox Dby DYDY DY:bu NEPD+D¥%ND°DuN, D¢D¥%D°D° DY:bu
P¥%:Dxb¥%b¥%:DD N'NE cl-15 D'D¥% ND'NED° 4.2 b~ NP°P° DB¢b¥%b¥%b bYiD°NZ emerge
D°D°ND°PuN, B¢ NEDYDD, Ne NEDYD DY%DYD3D¥: D3DUDY:N NN D%DYD3DY NeD°DIND° . Do Nf
v N... D'NENFDD B D-b°D2D Neb BV:D¥N-N.D,

History

10/19/2015 01:59 pm - Alexander Tratsevskiy

DD NeP¥ D2NEND” D»D,, B° DP2D%N, GCC DBY%NfDIPuDY: NeD2DUPTD P -

Db, DY:D°NEDY:NPD! firefox.
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